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PART -1I1II
g evuflevfl &@aﬁ]mé\) / COMPUTER SCIENCE
(.‘5'-'5]5.9 LOMHMILD 2 BISl6 6'I.IIE@ / Tamil & English Version)

&Te ere] : 2.30 wawfl Crywbd | [ Qurss LHUIGUETSE : 70
Time Allowed : 2.30 Hours ] [Maximum Marks : 70

SiMleyenraet : (1) imasg clamésesn sfwursl udeard o daearTsr eraTlGmens
sllurisgs Qarerereyb. sFaliudela Gopuldmudea, mns
sarsraiiiumeril b o L anguirsd Qaifletlissa|i.

2 B bz smUY @w¥aa LLEGCWL TWSHMSHELL,
<l &ECET HeusHED LwaRSs Cauam@D. LLBSET aleresnE
Quenfled LwaTLI(HESELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

LGS -1 /PART -1
GOl : () oIS AaraaErsED el Weilssall. 15x1=15

() Qsr@ésiiul(Herer LIHDH derLsefled Wsed eghHUemL W
HeLews ComblshHS5s GO GLear e lmeanb Gaigg
GT(LPSELD.

Note : (i)  All questions are compulsory.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1.  @eupmer e eumle sbhm, OR eurufeler Qeueflum e sea&pTs rHOHIS
- Qar@sEn ?

(1) NOR (<) XNOR (@) AND () OR

Which gate circuit is an OR gate followed by an inverted ?

(a) NOR (b) XNOR (© AND (@ OR

2. Q@epmer ereng Lwen(BigS LCD q@gn@ga;ur S| DG asrn_él Qsmusmu_ws
SemtleWLaT (@) enauré&eIrd ? i

(<=1) SCSI port (<4,) VGA connector
(@) USB port (,F) PS/2 port

Which is used to connect a monitor or any display device like LCD projector to a
computer ?

(@) SCSI port (b) VGA connector

(c) USB port (d) PS/2 port

3. Ubuntu —eb} &dTGIﬂGU)GUUT‘Ibg L&m SjEpFe LweumL el sahidly. :
(<9y) Internet Explorer (<) Chrome
(§) Thunderbird (/) Firefox
Identify the in-built email software in Ubuntu :

(a) Internet Explorer (b) Chrome

(¢) Thunderbird (d) Firefox
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QeupmieT erg) QsTRSSLILL L 2 6refl §) UeiTL&aT, 2_6met(h whmib Ceemauwirer
Qevaflih Hwednse Gar Cuwmen QarLiiysemer GH&EESLD ?
(1) Apdlaperp (=) uenywenm
() efleurs @By () snpmdaer

Which is specified by the properties of the given input and the relation between the
input and the desired output ?

(a) algorithm (b) definition

(c) specification (d) statement

Cl‘GI'G:oTI_Igj Qumi wHmd C2 Gl;eirruglj Qs ereafe, @Lésa;uu@ﬁ) Gl (H sl
Tl ?

1 if C1

2 S1

3 else

4 ifC2

5 S2

6 else /

7 S3 A
(=) S3 (=) S1 & S2 (@) s1 (FF) S2

If C1 is false and C2 is true, which compound statement will be executed ?

1 if C1

2 S1

3 else

4 if C2

5 S2

6 else

7 S3

(@) S3 (b) Sl & S2 (© S1 (d S2
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6. WL&EG wrppiled o araowns @mss Gauemigl Sauflud G :
(=) @eu@eun(y spaphAuen wpigaile
(<) Apdleperpulien Qgmsasdled
(@) wL&fler QAsTL&5550
(FF) @@Qmwé‘&@ﬁ)@uﬁ]m QFTL&a55 e
A 1o0p inivariant need not be true :
(a) at the end of each iteration
(b) at the start of the algorithm
(c) at the start of the loop

(d) at the start of each iteration

7. a=5,b=6; erafleb a & b -ullem aflepL eremen ? . .
(@)1 (=)0 (@) 4 (%) 5

Assume a=5, b=6; what will be the result of a & b ?

(@) 1 (b) 0 (c) 4 (d) 5

§. for(int i=1; i<=10; i++) eramp LL&EG eThganar (pon GUIEGD ?
(1) 9 (<2)11 (@) o () 10
for(int i=1; i<=10; i++)
How many times will the loop be executed ?

@ 9 (b) 11 © O d 10



10.

11.
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@@ @@U-IQIGDGU CT(PSSI LOOHMID GTEHT GUEMSILT VDG QLMW GraLIenS
suTiés 2 gayb Qewhsam erg ?

(<=1) isalnum() (=) islower() = (@) isalpha() (FF) isdigit()
Which function is used to check whether a character is alphanumeric or not ?
(a) isalnum() (b) islower() (c) isalpha() (d) isdigit().
@eupmier 6t euamrbidene GgefleyuBsgid QFunpGHwrEn ? - -

) &

(=1) % (<2b) (@) >

Which of the following is the scope resolution operator ? j
@@ % (b) = | © > | (d:) &

cin>>n[4]; Qb FDD THS o mrnde wleu o ereaf@id ?

(=1) 4 ()2 (8) 5 (/) 3

cin>>n[4]; to which element does the statement accept the value 2

(a) 4 b) 2 © 5 (d 3
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12,

13.

@M SO <deiliy Spssareurn Qsr@ésiul(Harerg,.
struct Time
{

int hours;

int minutes;

int seconds;
It
CuGe o drer oiflefinded seconds eremp &G\ wrdlenw (9 ereu(me creubHmIeT
a5 GHEAns ? | -
(=) seconds (<y,) t.seconds
(@) Time.seconds -~ (m) Time:seconds
A structure declaration is given below :
struct Time -
{

int hours;

int minutes;

int seconds;
17

Using the above declaration, which of the following refers to the structure variable
seconds ?

(a) seconds (b) t.seconds

(c) = Time.seconds (d) Time::seconds

QasEWesGEa a@runssLLBD deupamnsd abs Qsupammsamar
Gured Quiki@Hlemmen ?

(<21) Outline GEwHFMISET (=) srey Qswhamm

(@) Inline Q&wIHsnmSET () Non-inline Q&wWmHammsar
The member function defined within the class behave like :

(@) Outline function (b) Data function

(c) Inline function (d) Non-inline function
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14.  GemauheuaneudmieT erg ‘school’ eremm <oiiqliLien. @arsEWedelmHS! ‘student
GTEUD Qe (Lpenau SMmeil&EEh ?

(1) student : public school (<) class school : public student
(&) school : student (/) class student : public school
Which of the following derives a class student from the base class school ?

(a) student : public school (b) class school : public student

(c) school : student (d) class student : public school

15. seiuG@urd eumelub@daad ePurs o d@rE LoD GeueflGumid -
sll&amErsEamer sansrafssab s HLLESSAD s QFiieg) 4

(1) LWireumed (=) aumiibe (@) Gsflev () mésble
A computer network security that monitors and controls incoming and outgoing traffic
is:

(a) firewall (b) worms (c) cookies (d) wvirus

u@&3 - II /PART - IT

gCsamib g elamésEréE elmLwalssaln. veupdla eleamm eram 24 -&s,
aewTiqILng ellenLwefl&sai. 6x2=12

Answer any six questions. Question No. 24 is compulsory.

16. gL e euens HGELGLTHlanwIL] upd g GHIIY er(psis.

Write short note on Impact printer.

17. e udlCeu(® (Program Counter) eresinimed eremes ?

What is a program counter ?

[ Hmuys / Turn over
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18.

19.

20.

21.

2_2.

23.

2,

Lo Lwerflen Qlwiés el TenmTa eremem ?

What is a multi-user operating system ?

QSTL_&8858 j=20 LHYID p=4 eraled p=p*++j; erenLigen elenL wWrg ?

Initially j is 20 and p is 4, then what will be the value of p=p*++j; ?

AT 2_6nL_Gge (Harvesting) eresimmey eremes ?

What is Harvesting ?

Q@ uflwren eiaflew eifelés@Lnh Aem_fuea erwpd i5HE rHssGEST [
&(IHS.

Write the syntax to declare two-dimensional array and write a suitable éxample.

Clummper Crrég Brorsssden GoPUT(H&EeT Wreneu ?

What are the disadvantages of OOP ?

QensE 1 2 MLILSET eTenmTed creman ?

What are called class members ?

5,10, 15, ..... 50 ereomm QFmir euflenaeniw S HeugDaTen While 1oL_sepa TS5,

Write a while loop that displays numbers 5, 10, 15,
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LGS - III / PART - III
gCas@ID M 6l anTéa(ans s, allenLwaflGsayb. seupda eflanm eram 33 -&s,
gewTiqLILING ellen weafl&seayb. 6x3=18
Answer any 6 questions. Question No. 33 is compulsory.
25. XOR eumulled et QoL g uied OMID F(HES GHen! cUMmTS.
Write the truth table and draw logic symbol of XOR gate.

26. Yenmeumeuar LHH GO euenys.
(=1) euemawenliy Ghllumer (Network Indicator)

(<2b) 2AiTey GMiiuren (Session Indicator)
Write short notes for the following :

(@) Network Indicator

(b) Session Indicator, .

27. el (1) opmibd eufl (3) -ar LHLAMSSRISES 19D@ m LHYLD n wrHsaflcr gl

erauent ?

(1) m,n:=410

2) --m,n=?7?

(3) m, n:=m+5, n—2
(4) --mn=?7?

What are the values of variables m and n after the assignments in line (1) and
line (3) ?

(1) m,n:=4,10

(2) --mn= ?,7?

(3) m,n:=m+5n-2
4) --mn=77?

28. @lemorHPLD eI eramar ? e dn@hon Genorppsasl LupHl Hp Gy
U TS,

What is type conversion ? Write short note on implicit type conversion.

[ Hlmlys / Turn over
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29.

30.

3.

32.

33.

Switch aigb@ei;'r'g;l'_L_mm Qareny er(pd SiFam Liwlengamer er(pgI%.

Write the syntax and purpose of switch statement.

Yenanavren sU_H\(H erempred ereen ? arHESHIEST(H S(HS-

What is called nested structure ? Give example.

2 murSuTEsED - euanFwml.
_ Define Encapsulation.

@ Qasgwme smels@w Gurg, émmgﬁd) Qrérer CSeuemrqu.uemaJ
wirened ? |

What are the points to be noted while deriving a new class ?

Qemeupd C++ By Asm@Haw, Lig5s) Qemeumid efamésEné@ eflenLwiarl.
class student

{

- int m;
public:
void add();
float calc();
} x1,x2;
Q) QasEwele e mliLsmar SemLps.

(i) x1 opmib x2 QUIGETSEbsETE blanames SiaTa) Wrg) ?
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Read the following C++ Snippet and answer the questions given below :
class student

{

int m,n;
public:
void add();
float calc();
} x1,x2;
(i) Identify the members of the class,
() What is size of the objects x1,x2 in memory ?

LGS - IV / PART - IV

cgqsmsmgg,j a‘jlsmrrasas@a;@m Qﬁ]ml_u_laﬂasasmm 5x5=25
Answer all the questions. : :

34.

@@ safluQurdluder eyiq L unskigmar Ggefleurer eflarésliLLsgLen
efler& (5.
3| 6060F)
YeeuHeuaeuhenm LOTHMIE.
@ (1920)10=( )g
(@ (1920)0=( )2
(i) (8BC)yp = ( )2
(iv) (6213)g = ( )2
(v)  (255)19 = ( )16
Explain the basic components of a computer with a neat diagram.
OR

Convert the following :
©  (1920)19=( s
() (1920)0=( )2
(@) BBChe=( )
(iv) (6213)3 = ( )
V) @5)p =( )is

[ Hpliys / Turn over
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35.

36.

Lreued Quiss siewiider smagIH Lhh oferdss.
{6060

factorial(3) eremm Qawipsapdler QpHepennuden LigLiLg e QuSSESENS
SEN&ESA LD,
factorial(n)
- - inputs : n is an integer, n=0
- - outputs : f=n!

f,i: =1,1

while isn

f,i: =fxii+1
Explain the concept of Distributed Operating System.
OR

Trace the step-by-step execution of the algorithm for factorial(3). '
factorial(n)

- - inputs : n is an integer, n=0
- - outputs : f=nl!

fi: =1,1

while isn

f,i: =fxi,i+1

a=15b=20; ecrafled Epsaranid Qeweum igparear eNenL wmg ?
(=) a&b (=) alb (&) a™b () a>>3 (2) (~b)
SIS
C++ Gewpaadley UL epd PSS (LHenmeniL BGHS TOSHSHM_(HLawr
cilerd Gs.
Assume a=15, b=20 ; what will be the result of the following operations ?
@ a&b ®) alb () ab (d) a>>3 € (~b)
OR

Explain call by value method using function in C++ with suitable example.
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37. er@m Crré e, ﬁljenrrésa;ggjm QgL & a;@ggja;mmu umml eflfleurs
(LS S.

Explain briefly the basic concepts of OOP,

. . 360605 /OR
ereumd Blranssrear Geuafust el TPHSIS :
Write the output for the following program
#include<iostream>
using namespace std;
class nest
{
int x1;
int square_num()
{

return x1*x1;

}
public:
void input_num(). .

{

o

cout<<”\nEnter the number “;
cin>>x1;
}

int cube_num()

{

return x1*x1*x1;

void disp_num()

{

int sq=square__num();
int cu=cube_num(); ’

) ) I'( .
cout<<”\nThe square of “<<x1<<” is “<<sq;
cout<<”\nThe cube of “<<x1<<” is “<<cuy;

}
y
int main()

{

nest nl;
n1.input_num();
n1.disp_num();
return O;

[ Sl / Turn over



1522 (NS) 14

38. GewpEn umilblEldnsrear eurbudmesdr Wramal ?
What are the restrictions on operator overloading ?
Ilevevg /OR
Qar®&sILL_Herer Qeuallusi iy aens Qup Epsaerr . Hralld drer Mapsaer
epdmssd Qs :
Debug the following program to get the output

QOutput

Enter data

Name : Raman

Code : 1305
Experience : 25
Display data

Name : Raman

Code : 1305
Experience : 25 years

#include<iostream>
+ #include<string>
Class Employee

{
private
char name[20];
int code;
public:
void getdata();
void display();
L
Class staff:public Employee
{
int ex;
public:
void get();
void display();

L
void Employee::display();
{ .

cout<<”Name : "<<name;
cout<<”Code : “<<code;
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void Employee::getdata()

{
CQut<<"Name . u;
gets(name);
cout<<”Code :
cin>>code; ’

}

void staff::getdata()

{
Employee::getdata();
cout<<"Experience :”;
cin>>exp;

}

void staff::Display()

{
Employee::display();
cout<<”Experience :"<<ex<<” years”<<end|;

}

void main()

{
staff s
cout<<”Enter data”<<endl;
S.getdata()
cout<<”Display data”<<end|;
s.display();
return O;

7
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